Table 6.14.1.1. Twenty-fifth percentile, median, and seventy-fifth percentile of the number of two sea-winter females across all

Penobscot River production units in generations (Gen) 1-10 for the proportion of adults that die after unsuccessfully passing a dam

equal to 0, 0.012, the base, 0.024, and 0.048 under the Base Case scenario.

Base Case - 0

Base Case - 0.012

Base Case - base

Base Case - 0.024

Base Case - 0.048

Gen 25% median 75% 25% median 75% 25% median 75% 25% median 75% 25% median 75%
1 587 587 587 587 587 587 587 587 587 587 587 587 587 587 587
2 53 123 343 50 125 347 51 124 329 51 124 335 49 121 328
3 52 125 334 50 122 327 51 122 323 51 116 319 50 116 324
4 52 125 340 51 121 339 51 119 344 50 121 329 49 120 332
5 52 127 341 52 123 332 52 118 324 52 120 327 50 117 329
6 52 124 335 52 124 327 51 120 329 51 121 326 49 119 326
7 53 125 336 53 122 329 50 119 330 51 123 325 50 119 318
8 52 124 349 52 123 340 52 121 327 50 120 328 49 118 333
9 54 126 332 51 123 333 51 121 329 51 122 328 50 119 326
10 51 126 339 52 125 334 52 119 324 51 120 330 50 120 331
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